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Formal Logie
-

: tf - then →
' implications

if - and - only - if

① Implies : A  ⇒ B " A implies B
"

A :
" hot outside

"

B :
"

not many people outside
"

implication : A  ⇒ B
" if hot outside

,
then not  many

people outside "

Converse i B ⇒ A a if not many people outside
,

then

hot outside "

A converse not necessarily true

Contrapositive : TB ⇒ 7A
" if many people outside

,

then not hot outside "

* implication and its contrapositive are logically equivalent



Implication chain together

A  ⇒ B
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B⇒c ⇒ A ⇒ c
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First - order Logic g
if and only if

-

① Consider :

"

any object D a square it it  is a

rectangle with equaltenth sides
"

P ⇐ Q P =
a

any object a a square
"

I what does that mean ?

A- need variables and

Predicates

Square C a ) ⇐ Rectangle Ex) A Equal sides ( x )

federate tuariabk



⑨ Quantifiers F  =

"
there exists

"

f  =
" for all

"
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